Habi Aissa middle school
Name: ..........ccocooiiiinn coinnn.

The Second Term Test 01
I read the text and do the tasks (14 pts)

Level : 2 AM
Mark: ......... /20

Akram is at the grocer. He is buying the ingredients for cake.
Akram: Good morning, sir.
Grocer: Good morning, how can [ help you?
Akram: I need some eggs and suggar.
Grocer: How many eggs do you need?
Akram: 10 eggs, please.
Grocer : And how much sugar do you want?
Akram: 1 kg, please.

How much shall I pay, please?
Grocer: 100 da + 85 da. It 1s 185 da.
Akram: Thank you, sir.Good bye.
Grocer: Good bye.

I read and do (7 pts)
I read the text and circle the right answer: (3 pts)
1. The textis:
a) message b) email c) dialogue
2. Akram s at;
a) grocer b) butcher ¢) pharmacy
3. Akram buys:
a) meat and sugar  b) eggs and suggar  c) apples and milk

I read the text and answer the questions: (2 pts)
1. How many eggs does akram need?

I match the words with their opposites: (2 pts)

Words

Synonyms

1) Many a) alittle

2) Few b) alot of

I master the language: (7pts)
I complete the dialogue with( how much- how many) (2 pts)

Fathises conwmsivevsmvermeim apples do you need?
Mother: Buy only 5 apples.
FAher s . milk do you want?

Mother: Just 1 litre.

I choose the right word: (3 pts)

a) There are (many / any)............. apples in the basket.
b) ‘There is (4 lilel muh ) oo fruits.
c) There isn’t (any/ much ) ............ oranges in the basket. a
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I put the words in the bubbles ( 2 pts)
robbot- teacher- green- girl

[ Silent« r » ] [ Pronounced « r » ]

I write( 6 pts)
I am at the mall. I want to buy some clothes
Me: Good morning, Sir.

Shop-assistant:..................cooviiiiinn.n. Can I help you?

Me: Yes, | need a jacket, please.

Shop-asistant: ... .. ... ?
Me: | wear size 34.

Shop-assiStant: ..ot ?

Me: Ilike black colour.

Shop-assistant: Any thing, else?

Me: Yes, | need a pair of shoes.

ShOop-aSsIStant: ... ..o ?
Me: | wear size 36.

Shop-assistant: this is the jacket and this is your shoes.

VIB . ?
Shop-assistant: 6000 da+ 2500 da. So it is: 8500 da.

Me: Thank you,sir.

Shop-assistant: ...............cccooiiiiiinnn and good bye.






